

NAME: SIAMWE MALCOLM EBRUPTOR
MAT: 15/ENG04/032
DEPT: ELECTRICAL/ELECTRONICS ENGINEERING
COURSE: ENIG 351

ASSIGNMENT 3

$$1 \text{ If } y = e^{x^2+x}$$
$$y' = (2x+1)e^{x^2+x}$$
$$y'' = 2e^{x^2+x} + (2x+1)^2 e^{x^2+x}$$

$$y'' = y'(2x+1) + 2y$$

$$y' = (2x+1)e^{x^2+x}$$

$$y'(2x+1) = (2x+1)e^{x^2+x}(2x+1)$$
$$= (2x+1)^2 e^{x^2+x}$$

$$2y = 2 \cdot e^{x^2+x}$$

$$\therefore y'(2x+1) + 2y = (2x+1)^2 e^{x^2+x} + 2e^{x^2+x}$$

$$\therefore y'' = y'(2x+1) + 2y$$

$$\therefore 2e^{x^2+x} + (2x+1)^2 e^{x^2+x} = (2x+1)^2 e^{x^2+x} + 2e^{x^2+x}$$

$$w = y''$$

$$w^n = y^{n+2}$$

$$p = y'(2x+1)$$

$$v = 2x+1 \quad u = y'$$

$$v' = 2 \quad v^n = y^{n+1}$$

$$v'' = 0$$

$$p^n = y^{n+1}, \quad 2x+1 + n \cdot y^n \cdot 2$$

$$s = 2y$$

$$s^n = 2y^n$$

$$w^n = p^n + s^n$$

$$y^{n+2} = (2x+1)y^{n+1} + 2ny^n + 2y^n$$

$$y^{n+2} = (2x+1)y^{n+1} + 2(n+1)y^n$$

② Using the Leibniz theorem, prove that

① $y = x^3 e^{4x}$ determine y^n

$v = x^3$ $u = e^{4x}$

$v' = 3x^2$ $u' = 4e^{4x}$

$v'' = 6x$ $u'' = 4 \cdot 4 e^{4x}$

$v''' = 6$ $u''' = 4 \cdot 4 \cdot 4 e^{4x}$

$v^{(4)} = 0$ $u^{(4)} = 4^4 e^{4x}$

$$y^n = 4^n e^{4nx} \cdot x^3 + n \cdot 4^{n-1} e^{4nx} \cdot 3x^2 + \frac{n(n-1)}{2} 4^{n-2} e^{4nx} \cdot 6x + \frac{n(n-1)(n-2)}{6} 4^{n-3} e^{4nx} \cdot 6$$

$$y^n = 4^n e^{4nx} x^3 + n 4^{n-1} e^{4nx} 3x^2 + n(n-1) 4^{n-2} e^{4nx} 3x + n(n-1)(n-2) 4^{n-3} e^{4nx}$$

$$y^5 = 4^5 e^{45x} x^3 + 5 \cdot 4^4 e^{45x} 3x^2 + 5 \cdot 4 \cdot 4^3 e^{45x} 3x + 5 \cdot 4 \cdot 3 \cdot 4^2 e^{45x}$$

③ $x^2 y'' + xy' + y = 0$ show that $x^2 y^{(n+2)} + (n+1)xy^{(n+1)} + (n^2+1)y^{(n)} = 0$

let $w = x^2 y''$

$v = x^2$ $u = y''$

$v' = 2x$ $u' = y'''$

$v'' = 2$ $u'' = y^{(4)}$

$v''' = 0$ $u''' = y^{(5)}$

$$w^n = y^{(n+2)} x^2 + n y^{(n+1)} \cdot 2x + n(n-1) \cdot y^{(n)} \cdot x$$

$$w^n = x^2 y^{(n+2)} + n 2x y^{(n+1)} + n(n-1) y^{(n)}$$

$$\text{Let } p = xy'$$

$$v = x$$

$$u = y'$$

$$v' = 1$$

$$u' = y''$$

$$v'' = 0$$

$$u'' = y'''$$

$$p' = y''' \cdot x + n \cdot y'' \cdot 1$$

$$p' = xy''' + ny''$$

$$s = y$$

$$s' = y'$$

$$y''' \cdot x^2 + n \cdot 2xy'' + n(n-1)y' + y'''x + ny'' + y' = 0$$

$$y'''x^2 + (n \cdot 2x y'' + x y''') + [n(n-1)y' + ny'' + y'] = 0$$

$$x^2 y''' + (2n+1)xy'' + [n(n-1) + 1 + n]y' = 0$$

$$x^2 y''' + (2n+1)xy'' + (n^2+1)y' = 0$$